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1530 }EHTHT 0 307
1540 K{Z3FHT 0 561
9999 FEMNA: X 5 3 2397
2010 Z & ERHET 0 187
2020 %= EFGHET 1 304
2030 AT 0 20
2040 ;ET—T H 0 214
2050 BT =T B 0 200
2060 ¥g AT 0 39
2070 FxEBT—TH 0 263
2080 +RETZTH 0 195
2090 THIELHET 1 1852
2100 fhdLHT 0 270
2110 }EWIETET—T B 0 253
2120 HEMIFTETZT B 0 310
9999 ZERXET 2 4107
2510 FAMEET 2 2359
2520 sk EeHT 1 1445
2530 = /INRHET 1 400
2540 FHi5HT 0 464
2550 ;HHET 1 253
2560 = EHT 0 1000
2570 X &HT 0 88
9999 ME R X ET 5 6009
3010 KATHT 2 1058
3020 ;BT HT 0 1032
3030 _EEFHT 3 866
3040 &S _LHET 0 144
3050 B AT 3 2447
3060 B THT 0 515
3070 THESEHT 0 541
3080 HHHHT 0 476
3090 H A E AT 0 462
3100 HhFaHET 0 469
3110 EHAILHET 2 483
9999 /\FHERXET 10 8493
3510 2R LHT 0 193
3520 £ R chfT 1 371
3530 2R THT 1 1045
3540 Z= B KHT 0 400
3550 AETHT 1 807
3560 = T ERAT 0 299
3570 = T AT 0 814
3580 FLIFTHT 0 535



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R3.9.30IR7E JATHET £ (K=F) AlE A A O (%)

THRET(KF)a—F {TERHET (K=F)4 100LLE  AO&

3590 EHT 0 18
9999 S HKXE 3 4482
4010 41| RET 0 320
4020 {E&HT 2 94
4030 5HT 1 238
4040 = HEAHT 1 247
4050 7K EHT 1 515
4060 E=Z HHET 2 381
4070 JtJRHET 0 194
4080 =;T;HAMT 0 229
4090 S5 ERHT 0 326
4100 g FEFOET 0 150
4110 JtFFOET 0 171
9999 &M XET 7 2865
4510 EREE—ZEHT 1 741
4520 EREE — ZEHT 1 193
4530 EREE=ZEHT 0 214
4540 EREEIUZHET 2 181
4550 EREE FFHT 1 110
4560 EREENEEHET 1 103
4570 EREE-HZFHET 0 152
4580 AREE/\EHET 0 98
4590 EREE N FEHT 0 151
4600 EREE-+ZEHET 0 213
4610 EREE+—ZHT 1 244
4620 B+ —FET 0 379
9999 ERERXET 7 2779
5010 BRF0H £ HT 0 235
5020 FRFNBHELET 0 214
5030 FRFNREI{—HT 1 245
9999 BRFIMXET 1 694
5510 b RHET 1 219
5520 = HhHET 1 669
5530 FA=HT 1 501
5540 THEHRT 2 286
5550 EEHET 0 59
9999 =R X 5t 5 1734
6010 [E]ET/]NER 0 101
6020 [z ET = 0 119
6030 [EET &I 0 98
6040 EiEIFHET 2 223
6050 JI|ABTE 0 160
6060 JI|EHETF 1 127
9999 BEERXET 3 828
6510 B &= A#GHET 0 25
6520 HZEAKIEHET 0 211
6530 B E AFTHHET 0 98
6540 HZEALLTHET 0 196
6550 B E A Z NET 0 87
6560 HRAIEILHET 0 130
6570 B EALERIHET 0 144
6580 H&EAEHT 0 94
6590 HZ= ATHET 0 58
6600 B &= AT 0 82
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6610 HEA _LFEHT 0 39
6620 HZE AT 0 55
6630 HZE AT FGHET 0 81
6640 B &= A EitslT 0 34
6650 HZASHET 0 1
6660 HZ A RLHET 0 29
9999 HEARKKXET 0 1364
7010 Z B MO E 1 174
7020 — R AHT 1 225
7030 = R IRHNET 0 106
7040 — BT KEFHT 0 200
7050 — B E7 H I HET 1 108
9999 — R&XEt 3 813
8011 JRAETFERLY 0 60
8012 RAETFHERA 0 141
8013 YR AHTFEER (& 0 78
8021 IRAHTIZEKLY 0 78
8022 YR AHETIEKA 0 3
8023 IR AHTIEKIL 0 9
8031 YAHETH ALY 0 165
8032 IRAHTHA A 0 9
8033 FAHETH AL 0 15
8041 IR AHTELIRL 0 50
8042 IR AHTELIRA 0 22
8043 IR AHTELIR L 0 14
8044 IR AHTELIRIC 0 29
8045 IR AHTELIR (X 0 48
8050 i AHTHRA 1 128
8060 I AHT 7R 1 107
8070 JRABTER 0 98
8080 MR AETHkHA 0 50
8090 IR AHTHEE 0 38
8100 JRAHBTH /1% 0 16
8110 IRAHTJII 5 0 46
8120 IR AHTER" 1 86
8130 IR AHTH L 0 82
8140 IRABTHFRKT 0 119
8150 IR AHBTEFRK L 0 76
9999 AKX 5T 3 1567
9010 +THTAKEH 1 635
9020 FTHTHEA 2 413
9030 FTET#%EH 1 1355
9040 FTHIHEHE 1 1450
9999 FT X5t 5 3853
9110 SRET T HIE 2 591
9120 SFETH L 0 267
9130 $EHTH & 0 136
9140 $RAT T4 0 426
9150 $EHT L 45 1 519
9160 SRETERHT 3 777
9170 $RETNH 0 1019
9180 $xHTEE 0 644
9190 $FETZ O 0 242
9200 i ET Fr il 0 228
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9210 $EHET = H 0 392
9220 SxETHH 5 632
9230 $EHTE M 1 723
9240 $EHETIEE 1 262
9250 % HT At #r b 0 655
9999 S XET 13 7513
9310 E[FHET:AR 1 210
9320 H[SHETIL 1 234
9330 R[ZHET/INE 0 151
9340 R [ZHTR 4 402
9999 WG XET 6 997
9410 RETT & 1 380
9420 RHETHHE 0 206
9430 RETFER 1 133
9440 RETAEF 0 8
9450 RHETHER 0 17
9460 RET{—_HE 0 27
9470 RETEXR 0 6
9480 RHETHER 0 49
9999 RIXXEt 2 826
99999 &Rt 102 66303



